<o @> (rad)

< 00, > (M)

RatioI

<op/p. > (70)

Ratio

neshaing

1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

-+

=
o
iN

1

TPlpoT (PCA

3
Hheamiindf

—#— DQM_mkFit_XiMinusNOPU_newDefault5
—— DQM_mkFit_XiMinusNOPUold-lowpt

100

<+

+
+

[y

o
o1

"

...........................

[ay
o
I8

oF--- -,--3-“--# I 2 N
C A

_1:_ R s
_2:— -----------------------------------------
_3:_ ............................................
_4:_ ...........................
5L w A 0l

£ 1100 1 01 OO SO
15F----] {200 SRR
E- Rt T

1

[y
o
I8

TP

10
P,

2 3
(PCA t%)obeamlin%)o

<od,> (um)

|
N
o
T T O T [ TTT [T [ TI T[T T[T [ TT T[T [ TTT[TTI[TITT

<+
dr e D HRREEEEEEEEEE R EEEE T
b P B 8 I
B E EEEEREEEEPRREE B ¥ R e R PP
H +| 1|
ey
B K EEE TR PP REE B A R PP
TR I A
. 1L |
..... P Y
bl 0 v e 0o
EY .
-+ -
<+

107

1

2 3
TPlp?T (PCA tjbobeamliné'f)




	Contents
	Page 1


